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HLBEFF 5 Symbol

AR & ¥ Specifications
- T{E/E 5 Operating Pressure 350BAR
- fE Flow 160L/min
- % &tk Pilot Ratio 1.8:1
it i Internal Leakage 0.07ml/min.max.at operating pressure
- iRFF Temperature -30°C to +120°C(-22°F to+250°F)
_+ $H7L Cavity T-2A see page K-1
_+ &k Fluids Mineral-based fluids with viscosities of 7.4 to 420 cSt.

7= G4 Features
- BANEBEEAR1.8:1. XEKE %S E HK1000psi(70bar), ATLL
#EiH1800psi(125ban MIAOEH . A EXRSEHRIRS&EE K, B
BRIFEREYE, MTFSTH.
Nominal pilotratiois 1.8:1. This means that a pressure of 1000 psi
(70 bar) at the pilot port will close a valve against a pressure of
1800 psi (125 bar) at port 1. Any decay or loss of pilot pressure could
allow the valve to open, even ifit is a momentary decay or loss.
C2OMEHBEEREERTESEN.
Pressure at the port 2 area directly opposes pilot pressure.
CEERERT, REREAZORENOMSTATERN.
Reverse flow through the valve from port 2 to port 1 is not possible
under any condition.

T {& Operation

HEAHREREXH, £SFEHS: 1MESEHADE. thEFTMLE
SHIRAM 12 (258 2RI R RS- £ SORES.8: 1Rt
mOED. EREENAEREEREE.

This valve is a spring biased closed, pilot-to-close check cartridge that has
a 1.8:1pilotratio. The valve allows flow from port 1 to port 2 and blocks
reverse flow. Pressure atthe pilot port opposes pressure at port 1 ataratio
of 1.8:1. This valve is most often used in regeneration circuits.

%% R~ INSTALLATION DIMENSIONS
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iTHAL & Order Type
MCOFA - * * % - x %
T T T T T
[ | I [ v Vv
I. %575 = Adjustment . shE Seal-Kits V. [#RE 0 BODY PORTING
X=AT[iA% Nonadjustable N=T B8 Buna N BT=SAE6T
V= 5 Vit 12T=SAE 12T
Il. FF /& & 71 Cracking Pressure Wit 6G=G3/4
A=4psi(0.3bar) V. [@54f R BODY MATERIAL BN=NPT3/4
B=15psi(1bar) A=6061-T6%3 H AR L O 2R
C =30psi(2bar) if [ 3% B1207 Bar Other porting iavailable

D =50psi(3.5bar)
E =75psi(5bar)

F =100psi(7bar)

J =1350psi(9.5bar)

6061-T6 aluminum

alloy rated at 207Bar
S=tR#4 fif £ 32 E350Bar

steel rated at 350Bar
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